Francais:

Attention: Suivre le séquence de photos d’assemblage.
* Photo A: Retirer la selle de la moto — Attention aux rondelles.

* Photos B et C: Monter Luggade Rack comme instruction de montage.
* Photo D: Montez la selle sur la moto et serrer toutes les vis.

ana. nt

1S0 90012015
ERTIFIED -y com
© 910877

CROSSPRO

PROTECTIODN PEa RATS

CROSSPROD

LUGGAGE RACK
Ref.: 2CP2220085

WWW.Crosspro.pt



Ed

ASSEMBLY INSTRUCTION / INSTRUCAO DE MONTAGEM LUGGAGE RACK
N.m (TORQUE) CROSSPRO
ACO /STEEL| INOX
M4 2,7 0,8
M5 5,5 1,7
M6 9,7 3
M8 23 7,9
M10 47 14
M12 80 24

7

= ) Eng“sh
4/5/6mm )/ Attention: Follow the installation sequence as you can see in the photos.

* Photo A: Remove motorcycle seat — Attention to the bushings.
* Photos B and C: Mount Luggage Rack with assembly instruction.

8 |Fixacio DTC / DTC Clamp 75 OUT 1 * Photo D: Tight all screws.

7 Fixagdo DTC / DTC Clamp 75 IN 1

6 Casquilho Aluminio / Aluminum Bushing ?20x@9x15mm 2 ~

5 Porca Freada / Nut Nylock M8 - DIN 985 2 mg& . .

4 |Anilha / Washer M2 - DIN 125 2 Atencdo — Seguir a sequéncia de montagem que pode ver nas fotos.

3 [Paraf. Cabeca Cénica Sext. Int. / Hexagon Socket Countersunk Head Cap Screw M8x60 - DIN 7991 2 * Foto A: Remover assento da moto — Aten¢éo aos casquilhos.

2 Paraf. Cabeca Cilindrica Sext. Int. / Socket Head Cap Screw M8x50 - DIN 912 2 e Fotos B e C: Montar Luggage Rack como a instrugéo de montagem.

1 Paraf. Cabega Cilindrica Sext. Int. / Socket Head Cap Screw M8x40 - DIN 912 2 « Foto D: Montar banco na moto e apertar todos os parafusos.

M N2:|COMPONENTE (COMPONENT): DESCRICAO (DESCRIPTION):  [QUANT.:

ACESSORIOS (ACESSORIES) 1D.022.02 DATE: 14/10/2022




	Diapositivo 1
	Diapositivo 2

